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 Answer of      Q1   (20 Marks) 
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Answer of      Q2      (20 Marks)    

No. Correct choice 
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Answer of      Q3          (10 Marks)  

a)   We may use the Baye's theorem and combination, where,  

The event A represents : drawing 4 black balls and 2 white balls   

The event I represents : drawing the box I   

The event II represents : drawing the box II   
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⇒                                                                                         P(II/A) = 0.677 

 

 

b)    Success: getting number 3 ,                                                                                        

Failure: getting a number different from 3 ( i.e.  1 or 2 or 4 or 5  or 6)                                                                           

           6/55/1)( =⇒=⇒ qtrialonep  

           The random variable X follows the negative binomial distribution 

            ⇒ , ..., , xxqrpxC
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       ⇒                                                                                                 047.0≅P  
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Answer of      Q4        (10 Marks)  
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Since )( yYf is similar to )( xXf , The Kurtosis  of  Y equals the  the Kurtosis of  X 
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b)     (1-αααα) % confidence interval on  2σ   is          
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         ⇒  (1-αααα) % confidence interval on  σ   is 
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⇒  95 % confidence interval on  σ   is 
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Answer of      Q5    (10 Marks) 
 

a) 0µ  =36 , σ =1.52,   α =0.05,  n=5        

        36:0 =µH  

       36: ≤µAH  

       The required criteria, 
n

zC
σ

µ α−= 0   

      = 
5

52.1
645.136 −  =34.88 

       Since   35=x   ⇒   Cx >   

Decision : ⇒                                                                         We accept  0H   

 
 
 
b) We may calculate the following data from the given table 
 
X data Y data 
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xbby 10 +=                         ⇒                                                  556.75808.0 −≅ xy                                                                                     

At  x=1500                         ⇒                                                   1136.444≅y                                                                                        

 
_____________________________________________________________________ 

 

آــIرم   QـUــTـــDد/ م .د....................................       PQ دNـDاFGHIJ KLـDق         


